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1. faj What is sccondary data? Discuss the
advantapes and  disadvantages  of
secnndary data. 24T=5

O

(bl What do vou mean by classification of
data? Alsoe discuss the vanous fypes of
classification done in stavstics 2+7=4

2. faj Caleulate the mode from the following
data . g

Gl 30-a0 A0-50 50=60 60-70 7T0-80 3090 90-100
I G 1 | I4& 14 4 2
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Lir

iby A company wanted o assess the mapact
of cxpenditure (X] on annual prefit [V}
The table giver below for last G years :

X 5 1 12 13 3 |H

Y 20 25 W A A0 47

Calcalate 1he regression line of Yon X
and cstimate the profit for  an
expenditure of © 30 crore

3. iy From the following data of wholezale
prices of wheat for the 7 vears,
congtruct the index number /G taking
1964 as base arud il by chain basc

rmethod L
Wil T R T T T T T S R T P L T
Mo afwheat @ 30 33 53 40 S0 nh BS
i

() What do vou mmear By ronsumenr price
index vumber? Miscuss the uses and
limitations of ronsunwer  pmice  index
number J+3qmly

L= fB35a fComtinted |
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4. f{a; Calculate the seasonal indices from the
foliowing table by the ratic o moving

averages method 7]
= TR
| Season TUMD | T9K! G Tes? | 21983 | 1954
Onater] | 40 AF 1 4 35 11
Chuarter I | 35 37 | 35 Wy 1"
Pucrter i | 38 K 5t B e 1 k{18 38
isarder IS A BT i = )2
e

fbi When s time senies? Discuss the varnous
componenta of ime acies. 2y mly

S. @ Give a distincuon belween census
method and sample merbesd L

e

b I class, 20% of the students failed i
esomoinies, 1 of e geypdeonts (ailed in
entreorenearsinp and 7' faled 1 both,
A siudent 18 sclecred al random. What is
the prabability that—

fir the student fled i economics
gven thia? hir failed i
il I'!'].'I-I't"I':I.I:"LlI"‘-Tj:] | 1}

Mol the  studew possed  cither
COOnROMICE o entreprencurshp?

ok &k
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The fiqures in the margin indicate full marks for the questions

Answer all guestions

1. Pul a Tick (v} mark against the correcl answer in the
brackets provided 1=10=10
fa} Population characteristics are called

fil parameter | [
fif] startistics { ]
fiti] wariable { |

fiv] attributes | }
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iB) The quickest method of collecting primary data s
i telephone interview i
fi) direct interview L
fu mail gqueslionnaime | J

fir} schedule sent through enumerator {

fei  Coefficient of correlanon will always be

{ty more than O | [

{fif]  more than -1 i I

fuil less than -1 | |

fir] between -1 and +1 [ |

fdi Rank correlation method was developed by
fil Charles E. Spearman { )
fil  lwarl Pearson [ I
fitip  Charles Baboags { i

fivd NMone of 1the above | i
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Fisher's ideal index number formula satisfies
fil  time-reversal les ( |

fii} lactor-reversal test f )

i} Hoth i} and [} i )

fiv] None of the above { J

Base vear guantitics are taken as weight in

fi} Paasche's price index number { ]
(1} Laspeyre's quantity index number | |
{iif) Paasche quantty index number i |

fre}  Laspeyre's price index number I |

“A time scries consists of data  arranged
chronologmcally.” Whe coined the definition?

fif Morris Hamburg { |

firf Ya-Lun Chou { )

fiil} Croxton and Lowder {
fiy  Levend and Rubin i |
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(hj The probability of getting a king from a pack of
52 cards i3

W=y L)
fii -5:"“'5 ()
w0
f) oe )

fij Convenicnce sampling s a

fij probability samphng | ]

fif) non-probability sampling { ]
fiif random samphng | |

IE-II]I None of the above i ]

Bo/BS-603/635
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(i The interval between the base peint and the
forecast point is termed asg

fij base point e 3

fii) forecast poinl [ ]

fiii} range of forccast [
fir) None of the above l [

2 Indicare whether the ollowing statements are Trie or

False by putting a Tick {) mark in the brackets
1x5=5

provided °

faj Schedule is filled up by informants.

True | ) False | }

Hg: Bs-603f535
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fbj Scatter diagram helps us to get an idea of the
correlation between two variables graphically.

True i ) False

—
—r

fc} Probability sampling and randem sampling are
SYNOTLYIS.

True { Falze [ )

fdj In chain base, the base year changes from vear-
o-year.

True | [ False | }

fe} Trend refers to the steady movement over a short
period of tirmne,

True I | Fulse | ]
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3. Write short notes on the fallowing 2x5-10

jal Cenasus method

B/ RS—603/535
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fh] Univariate data

B /B5-603/335



(2]

ic)] Chamn mdex number

Be fA5=-003/535
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fdi Business cycle

Bo/RS-603/53%
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fe] Classical method ol probabulity

W
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